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i [ Paper 1 has two parts: Part | & Part Il
STUE T P A GRT & 90T 1 3R 9T 2

(@) Part | : Reasoning (50 marks)
HET 1 @@ (50 marks)

(b)  Partll : Elementary Mathematics (50 marks)

0T 2 & g T :
2. Each part carries 50 objective type of questions.
TAF AN 3§ IS THR D50 TST 2T Q¢ § |
3. There will be four possible answers to every question. Candidates are

required to fill correct answer in the OMR sheet with Black ball pen.
TEE TS B AR fawed Ry M ¥ | sl amawmageR 99 Sex @t TW e S

(OMR sheet) 3 et / ®ret a1 37 ¥ WX |
4. For each correct answer, 1 mark will be granted and 0.33 mark will be

deducted for every wrong answer.
TS FE SR @ fw 1 siw R sem sk 0.33 siw ®rer sie |

5. If a candidate gives more than one answer, it will be treated as a wrong

answer and 0.33 marks will be deducted. There will be no penalty for

questions left unanswered.
i aefl TP U1 o1 Sk T W A a1 ¥ O 98 T "4 oo ek 0.33 sis e

SIQT |
6. Candidates should not mark in the question paper. They can use blank

ages provided in the question paper for rough work. o
Pes 7S UA & WRE BT DI s T @Y | Y6 P D g WST 99 @ W Her Qe

QS B SHFT BN | :
7. Paper 1 has Part | & Part Il. To be eligible to qualify, candidate must
obtain minimum 40% marks each in Part | & Il separately and a minimum of

o regate in total. _
SOAagrg:rqga%a‘rmﬁ:ﬂmwﬂ?wz | St @ @ forg snaedt @t Qs st T | i s

Il 3 arerT a1 9 9 B9 40% 3R Gt 3 &1 50% wrr Aifvart ¥ |
This question paper contains 20 number of pages.
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Part | : Reasoning (50 Marks)
9T 1 : a% (50 ATEFH)

IQ!LQM In these questions the letters in a word are replaceq by certain other
tters according to a specific rule to form its code. You are required to detect the

Coding pattern / rule and answer the questions accordingly.

e - ﬁma?#wuaa:amﬁﬁﬁﬁwﬁmaimﬂgmmamﬁ
X ged FT SHHT FF T41 orar ¥ rgH A Aot / B B g T §
A IFF HFER WAl FT 3aT a7 &

Q1. In a certain language, OPERATION is written as NODQBUJPO. How is
INVISIBLE written in the code?

vF 9T ST &, OPERATION # NODQBUJPO & w7 # forar & o
INVISIBLE &' & for@r sirar &

(a JOWJTJCMF (b) JOWJTHAKD (c) HMUHTJCMF (d) HMUHTHAKD

Q2. In a certain code language, PLEADING is written as FMHCQMFB. How is
SHOULDER written in the code?

uF ffga s#msT &, PLEADING @ FMHCQMFB & &1 & foar 8. ar &
SHOULDER &t &% for@m simar & _
(a) KCDQTIPV (h) QDCKTIPV (c) QDCKVPIT  (d) TIPVQDCK

Q3. In a certain code language, GAMBLE is written as FBLCKF. How is FLOWER
written in the code? ’ ‘ '

s fafRTd HIST #, GAMBLE #Y FBLCKF & &7 & f@r ¥. af s FLOWER #t

3 forar Jar &
(@) HNQYGT (b) EMMXDS (c) GKPVFQ (d) GMPVDS

Directions In these type of questions generally a set, group or series of numgrals
is given and you are required to trace out the numerals following certain given

conditions. /
Bifer : W WER ¥ weat i 3 AR W AT w1 wh We, WAE AT Awar & S
& 3R U Fo WRTT el FT GTT FA G HH FT TAT A §

Q4. Sam ranked 9" from top and 38™ from the bottom in the class. How many
students are there in the class?

Sammﬁ'mﬂ'gﬁaﬁTﬁﬁ‘#BSa‘Wﬂ%.mﬁ'WﬁW%?
(@ 45 (b) 46 (c) 47 (d) 48



. in a
Q5. Manoj and Sachin are ranked 7" and 11t respectively fr_or?hg)gl;gs? class of
31 students. What will be their respective ranks from the bottom In

Manoj 3R Sachin 31 Bl # v HamW # Fux F waer: 73 AHT 1T T 9§,
Fell A AT ¥ 39h wrafa = a7 geh 2
h
(@) 20"and 24" (b) 24" and 20" (c) 25" and 215t (d) 26" and 22

Q6. In a row of boys, A is 15" from the left and B is 4™ from the right. Th.ere are
three boys between A and B. C is just left of A. What is C’s position from the right?

TEHE B S G9fFT A, A G X 153 TU W R A 3 B ¥ wew AT a=F L
C, AF aIT g, g & C & T &1 72

(@) 9o (b) 10" (c) 12t (d) 13"

Q7. Richard is 15" from the front in a column of boys, there were thrice as many

behind him as there were in front. How many boys are there between Richard and
the 7" boy from the end of the column?

aga?ra:waﬁaw#mchardm@‘rwa.wwiﬁaﬁmam?ﬂ:r
gm%ﬁ.ﬁaw%aia#l?ichardWTQM%MWFFS*??
(@ 33 (b) 34 (c) 35 (d) None of these

Q8. N rank 5" in the class, S is 8" from the last. If T is 6™ after N and just in the
middle of N and S, then how many students are there in the class?

Nmﬁsawmqr%,saiﬁw#sawmqt%.aﬁT,Na:meﬂmw
%ﬁTNaﬂTSa;ammw#%aﬁmﬁﬁmﬁﬁmeﬁ%?
(@) 23 (b) 24 (c) 25 (d) 26

Q9. Inarow of 21 girls when Monica was shifted by four places towards the right,

she became 12" from the left end. What was her earlier position from the right end of
the row?

21 @3fFal 1 tF 9@Fd F ST Monica F AR Tu=Y ¥ aF W TGRS T
STar @, o 9% 91¥ BR {1277 @ Il ¥, 9w ¥ oF ok @ sEE ggd @
feufa a1 &Y 2

(a) 8th (b) 10th (C) 12th (d) 14th




Dj

i
E In these type of questions some particular objects are assigned code
aAmes, then

a question is mmxma that is to be answered in the code language.

By - TH UHR & weal ¥, ﬂﬁﬂnﬂmﬂﬁﬁwﬂ_ﬂwﬂuﬂqﬂ T TH
TR ywr I B, Wﬁﬂﬂ%uﬂd@uﬂ@@ﬂﬂwﬁﬂﬂa@q

Q10. If sand is called air, air is called plateau, plateau is called well, well is called
island, island is called sky, then from where will a women draw water?

IR @ N O T I, FO F ISK FE A, GSK B FAT FET A, T F
T FET 9, gAY B IHT FE AT, oY ARATC qrd FE F ACA?

(@) island W (b) well FAT (c) sky IERIRM (d)  air FAT

Q11. If cloud is called white, white is called rain, rain is called green, green is called
air, air is called blue and blue is called water, where will the birds fly?

iy g F Whe FET A, The B qIReT FET AR, GIRT Fr T FET T, W
F §AT FET Y, §aT P AT FeT 9, AT F g7 FeT oA, A gah Fel 35A?

(@) m__.mm..q (b) blue #dT on. cloud srger (d) white T®Hg
Q12. If water is called food, food is called tree, tree is called sky, sky is om__mn_ wall,

on which of the following grows a fruit?

uﬂﬂﬂﬂqﬁﬂﬂmﬂﬂ_&.ﬁﬂﬂmﬂwﬁmﬂﬂﬂ.ﬂﬁﬂgqmﬂqmﬂ.
3THTT FT GR FeT oA, ar @F & F FH W & o &2

(@) water STer (b) food #¥SI\T (c) sky 3HIRM (d) tree a7

Directions In each of the following questions, select the related word from.the
given alternatives:-

P&y : AERRT T@%F T # BT v RTeal § ¥ gal®g aeg &1 994
&Y

Q13. Giant : Dwarf i Genius : ?
(a) Wicked (b) Gentle (c) Idiot (d) Tiny
Q14. Forecast : Future Regret : ?
(a) Present (b) Past (c) Atone (d)  Sins



Q15. Planet : Orbit

Projectile : ?
(@ Track  (b)  Milky Way (c) Trajectory (d) Path
Q16. Pesticide : Crop Antiseptic : ?
(a) Clotting (b)  Bandage (c)  Wound (d)  Bleeding
OAN. Symphony : Composer ::Fresco: ?
(a) Painter  (b) Inventor (c) Singer (d) Writer

Directions In each of the following questions, there is g certain relationship
between two given numbers on one side of :

- and one number is given on another
side of the same : : while another number is to be found from the given alternatives:-

=er wﬂﬂ@ﬂﬂﬂﬂm#_ﬁ%&gﬂﬁg&wﬁaﬂ

gﬂaﬁﬂﬂw”%ﬁw»ﬂﬁﬂﬂﬂaﬂﬁwﬂ&iw“%ﬂqﬂq
Reedt # ¥ q@ld v= i =i &

Q18. 42:20 N 64:?

(a) 31 () 32 () 33 (@ 34
Q19. 49:81 i 100:7?

(a) 64 (b) 144 (c) 169 - (d) None of the above
Q20. 0.16:0.0016 ::1.02:7?

(@)0.0102 (b) 0.102 (c) 1.020 (d) 10.20
Q21. 1:1 :: 25:7?

(a) 26 (b) 625 (c) 125 (d) 240

Directions In each of the following questions four words have been given out, out

of which three are alike in some manner and the fourth one is different. Choose out
the odd one.

fr&er : AT 9AF T # IR oo Ry v § Rt @ i et e @

Q22. (a) Rhea (b)  Trout () Lamprey  (d) Salmon




Q25 (@)

Commander (b)  Commodore (c)  Brigadier (d)  Admiral
Microscope (b)  Telescope (c)  Periscope  (d) Stethoscope

Thyroxin (b)  Adrenalin (c) lodine (d)  Insulin

Directions Each of these questions given below contains three elements. These

elements may or may not have some inter-linkage. Each group of elements may fit

into one of these diagrams at (a), (b), (c) or (d). You have to indicate the group of
elements which correctly fits into the diagrams.

oer - Eﬂﬂqanﬂuﬂﬂﬂ&%ﬂmﬂw.mﬂmﬂ&wﬂﬁ-gﬂ
5§w%mﬁﬁ.iﬁnﬂﬂﬁﬁﬂ%&@ﬂwwﬂﬂa
w.wﬂﬁuﬂmﬂﬁdjwﬂm@dﬁﬂwﬂ%&ﬁ%uﬂﬂaﬂﬂﬂw

Q26. Which of the following diagrams indicates the best relation between Doctors,
Human Beings and Married People?

T & @ 7 @ atw e, Aesw ik Rafa W@t & @

EH IS FFaeY Y gfar §
©o

© ©9

@
on av
Q27. Which of the following diagrams indicates the best relation Umgmm: Man,
Worker and Garden?

fafaf@a & ¥ sla @ 3@ agsa, sEiFa 3R oY § f7 =
TS [FEAT FY SRATAT &

@9 |
4

© @ O o ()




Q28. Which of the following diagrams indicates the best relation between Males,
Cousins and Nephews?

FeRfRa & & s @ e v, T2y g sl s F @
W IS WFETY FY gear ¥

Directions In each of the following questions, select a figure from amongst the
four alternatives, which when placed

in the blank space of figure (X) would complete
the pattern. _
A&y : e Q@ wea & a1 BFedt & ¥ ww fsfy =1 Tww A,
B sl (X) & Rea e F wsy W Yt @ g swen
Q29. )
>
AV

.2 m_mm A RAS

(X) (a) b) (o) (d)

Q30. In the following, a set of fi

gures carrying certain characters is given. Assuming
that the characters follow a simi

lar pattern, find the missing character.
?ﬂw@m&aﬁ»ﬂwiﬁﬁsyﬂis@w&ﬂ#mﬂgw
T A g, A a7 TF FAWT Yot HTEOT XA §, I qot F1 Fq

AVAVAVS

@) 28 (b) 30 (c) 35 (d) 27

U:..mozozm In the following, series of numbers are given following a certain pattern.
One term in the number series is wrong. Find the wrong term.

A&er . ARf@a 7, w ARTa Yot F HTUR TEAHT Ty siwar & wh ¥

FE&AT HEdl A UF 9g AT ¢ Tod TEdT e

. 196, 169, 144,121, 80
Gs1 (@) 80 (b) 121 () 169 (d) 196



Q32 1,3,7, 15, 27, 63, 127

(@ 7 (by 15 (c) 27 (d) 63

e others.

Directions Choose the odd numeral pair / group which _mg_mmqmziwoaﬁ

Rrdyr ;7 RYW 3w A / IE T o e A BT @

Q33. (a) 95-82 (b) 69-56 (c) 55-42 (d) 48-34
Q34. (@) 11-115 (b) 10-90 (c) 9-72 (d 8-56
Q35. (a) 81-63 (b) 24-48 () 21-15  (d) 13-39

Directions In this type you are provided with substitutes for various Bmﬁ:m_jmz.om_
symbols or numerals, followed by a question involving calculation of an expression
or choosing the correct / incorrect equation. You are required to put in the real signs
or numerals in the given equation and then solve the question.

B ;3w TR # auwr AT AT s a1 I F Reer Rr 9§
3TF 91 UF oo 24T SiaT & OEd sgord $Y AT A1 WEY / Tad FHISIOT FT
TIT AR g & IR RU v wHERer d arafad el ar e F
e 3 T AT Y g FA Y HEIFHAT &

Q36. IfQmeansto+, Jmeanstox, Tmeans-,Kmeans +,then30K2Q3J6T

5=7.

I QAqaAT +, J AGAT x, T AdAT -, K Adelg +, T 30K2Q3J6T5= 2
(@ 18 (b) 31 (c) 28 618

Q37. If P denotes +, Q denotes x, R denotes + and S denotes -, then what is the

value of 18 Q12P 4R 5 S 6?

I P Addw +, Q AFGAT x, R AAAT +, S AW -, T 18Q12P4R5S6?
(a) 59 (b) 53 (c) 63 (d) 65

Q38. If A stands for + B stands for - C stands for x, then what is the value of (10 C
4)A(4C4)B6?
Iy A AGAE +, B HAWE -, C AT X, Eﬂ:ootiao&wmﬁﬁ;ﬂqmﬁ
g2

@ 50 () 60 (c) 56 (d) 46



Directions In each of the following questions, clues are. @_<Mmqw3mma.5@
comparisons among set of persons, things, direction, age, time, num elc. Yoy

are required to analyse the whole information and answer the given questior,
accordingly.

ader - Eﬂgﬂaﬂﬁﬂm&i%ﬁﬂ%&ﬂwﬂﬂﬂgﬂ
U e e ¥ S A Rem, 3y, @, swen geafy §. wrad g AFER 5
frRaAwor F3 3k 3wF ITER AT T oAt F 3eaw G i IraeaFAr F

Q39. If a 1 mm thick paper is folded so that the area is halved at every fold, then
what would be the thickness of the pile after 50 folds?

ﬂﬂﬁiaaﬂwﬂs.ﬂﬂmﬂﬁﬂﬂﬂﬂﬂﬁﬂﬂmﬁﬁggﬂﬂ
mﬂﬂﬁﬂmﬂ%ﬂﬂmﬂmoﬂw#mﬁggv

(@) 100 km (b) 1000 km () 1 milionkm (d) 1 billion km

Q40. A was born 2 years after his father's marriage, his mother is 5 years younger

than his father, but 20 years older than A, who is 10 years old. At what age did the
father get married? ’ .

>ﬁﬂﬂ«uﬂ%?ﬂ»ﬂwﬂwﬂ_mﬂﬂﬂmm¥.uﬂ#ﬂe—uﬂﬂ?ﬂ@mﬂﬂ
%w%>#moﬁ_ﬁmwmw_ﬂ3uﬂwa#8ﬂﬂw.?ﬂ%§&§uﬂ
Hgs?

(a) 35 years (b) 25 years (c) 23 years (d) 33 years

Q41. A father tells his son “l was of your present age when you were born”. If the
father is 36 now, how old was the boy 5 years back?

ﬂ?ﬂﬁ»»&@ﬂﬂw#wmﬂaﬂﬂﬂuﬂﬁﬁmﬂwﬂaﬂﬂ#
gﬁﬂ?ﬂﬁwmﬂ##wﬂﬂwﬁﬁuﬂmﬂﬂﬂmﬂﬁw

(a) 15 years (b) 13 years (c) 17 years (d) 20 years

Q42. A father is now 3 times old as his son. 5 years back, he was 4 times old as his
son. The age of the son (in years) is?

aﬂ?ﬂ&ﬂmﬂ%ﬁ@%ﬂdﬂuﬂﬂﬂﬂﬁﬂiﬂ&ﬂ»&ﬂ%wﬂ
I Y. AT AT A 3T FAT§ ?

(@) 15 years (b) 12 years (c) 18years (d) 20 years




e the figures represents my

UAJ.W .
: > woman says __ OuU reverse m WY mm .
V\ ' < S < o is

”cmmmsa.m age. He is, of course, senior to me and the di
Mt of their son”. The women's age is?

aﬂﬁwﬂqiw%ﬁ%ﬂwﬁﬂuﬂﬁuﬂﬂmﬂﬁﬂwﬁﬂﬂ%ﬁﬁ.ﬁ
TRiffc =x & a7 PRYT w0 & ger aRee § AT gl 39 F AT I AR

TR R A sHFTI/ITRETE. sav e 3T FAME?

(@) 23 years (b) 34 years (c) 45years (d) 50 years

Q44. In a group of 15 people, 7 read French, 8 read English, .s\s__w 3 of them read
none of these two. How many of them read French and English both?

ai%ﬂuﬁ#wmﬂﬂ%mw@dﬂﬁww.mﬂwﬂuﬂﬂﬂmmﬂiﬂ
8t ved & st @ fraar aer S 3y i Aat ged & 7
@ © (b) 3 (c) 4 (d)5

Q45. M went to movies 9 days ago. She goes to the movies only on Thursdays.
What day of the week is today?

M &t R g A a@e R oAt & Faw TR B A AN @A § IS g
FHTF A RTE 2 ,
(@)  Thursday J¥FaR (b)  Saturday eIfalaR

(c) Sunday IEER (d)  Tuesday HI®T G

Q46. If 30" January 2003 was Thursday what was the day on 2" Mar 20037
IR 30 SFeradr 2003 HT & IFaR 41, @Y 2 AR 2003 Flr W RA & 2
(@) Sunday IRATR (b)  Tuesday HITAR
(c)  Thursday I%ar (d) Saturday IfeaR

Directions In each of the following questions, a matrix of certain characters is

given. These characters follow a certain trend, row-wise or column wise. Find out
this trend and choose the missing character accordingly. '

By : AFERARET F ¥ 93T A F g quit @ ARww e PReT gy w7

FATA T F I AR & AR A @ ¥ egEr ¥ wqfy @ 9 @
3R 38F HTFAR FI9aT Haw Y ¥
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Part Il : Elementar Mathematics Mar
T 2: 50 #7ATEF)

e age of a son is75Yy
hat is the present age

ears. If the product
Q51. The sum of the age of a father and th of the father?

of their ages before 5 years was 750, then w

aﬂﬂﬂ&mﬂ%mﬂ%mﬂﬁ%aiﬁaﬁmiﬁﬁﬂuﬂ%iﬁ
ﬁﬂﬁwmoﬁ.%aﬂﬁmﬂaﬂwﬁﬂﬂ?

(a) 60 (b) 55 (c) 52 (d) 50
Q52. The fourth proportional to 7, 11, 14 is

7,11, 14 %1 atar FATIT FT &7

(@ 16 (b) 18 (c) 20 d 22

is 38.4 kg. If the

Q53. The average weight of a class of 15 boys and 10 girls .
ht of the girls?

average weight of the boys is 40 kg, then what is the average weig
ai%aﬁi%ﬂ%ﬁ%ﬂﬁumi%ﬂqg.ﬂiﬁ
staa aoe 40 frat & @ wsfRal 1 stad awe Rraar 87

(@) 36.5kg (b) 35kg (c) 36kg (d) 34.6kg

Q54. In a class of 100 students, there are 70 boys whose average marks in a
subject are 75. If the average marks of the complete class is 72, then what is the

average marks of the girls?
100 BTt #t Fam & 70 a3% § Fad v RAwy & sitwa 3w 75 ¢ afy ot waw
¥ stwa 3w 72 % o aFAT & sifwa afF F=T A2

(a) 64 (b) 65 (c) 68 d) 74

Q55. The sum of two numbers is 7 and the sum of their squares is 25. The product
of the two numbers is?

ar @At #1 AT 7 ¥ 3R 3% et #r Avr 25 § ar e weAr) #T Ioree
1 72 i

(@ 6 (b) 10 () 12 @) 15

Q56. The sum whi ; ) .
arnim is?” which amounts to Rs 364.80 in 8 years at 3.5% simple interest per

3.5% IS HTURYT sarer 4 27 ¥ 8 9t F Rs 364.80 v TR F=17 )it
(@) Rs285 (b) Rs280 (c) Rs275 (d) Rs270



Q57. When an article is sold at 20% discount, the selling price is Rs 24. What is y,
selling price when the discount is 30%?

T UF TEF B 20% PE T I 0T §, A AT qoT Rs 24 ¢ T9 T 30% ¥ i
YT e 7 §2 .
(@) Rs25 (b) Rs23 (c) Rs21 (d) Rs20

Q58. By giving 25% discount a trader earns 25% profit. If he sells the item at 10%
discount, what is the profit?

aﬂﬂﬂ&wmxﬁwmﬂmmxﬂﬁwﬂmﬁﬂ@uﬂﬁmﬂﬂSxmdﬁ
dar ¥, ar @ = 3

(@ 10% (b)  40% S (¢)  45% (d) 50%

-
Q59. A man buys 200 oranges for Rs 1000. How many oranges for Rs 100 can be
sold so that his profit percentage is 25%7?

aﬂwﬂﬂmﬁooowmooﬁmﬁﬂ&mﬂw.mmioo#wﬂ»ﬁmﬁ»ﬂﬂﬁﬂw
I 3HET AT 25% @
@ 10 () 14 () 16 (@ 20

Q60. A car is travelling at a constant rate of 45 km/h. The distance travelled by car
from 1040 AM to 1 PM is?

aﬂﬂz»mg\n&%‘s@@mﬂ@@ﬂwﬂaaoz,\_@:uzmﬂmﬂm,mﬂ
raett gf ar @5 It eeh

(a) 165 kms (b) 150 kms (c) 120 kms (d) 105 kms

Q61. A man rows downstream 32 kms and 14 kms upstream, and he takes 6 hours
to cover each distance. What is the speed of the current?

TF HEfH URT F gha 32 Rl R 4R & ufdme 14 el s wamar & sk
NMIAF g AT FA AR T § ar A afy 7w & 2
(@ 05kmh (b)) 1kmih () 15kmh  (d) 2kmh




Mmm. A boy went to his school at the speed of 12 km/h and returned to ﬂm%&mwm”:mmﬂ
tor.. SPeed of 8 km/h. If he has taken 50 minutes for the whole journey, wha
Otal distance walked?
U WEEr 12 Al B B TR @ oy e A wran ik 8 Pee B A Al @
WY wy wle AT IR WS g wnT & faw 50 e w1 @AT T § @ g
* Fo gl 74T @7

(a) 4 km (b) 8 km (c) 16 km (d) 20 km

Q63. A can finish a work in 15 days, B in 20 days and C in 25 days. All these three
worked together and earned Rs 4700. The share of C is? :

ATE FI F 15 R & B 20 R=t F stk C 25 e F AT F FFAT ¥ B
A F AT FT F7 fFar 3 Rs 4700 FATC .C FT 3R FAT RwqT §7

(@ Rs1200 (b) Rs1500 (c) Rs1800  (d) Rs 2000

Q64. A number, when divided by 987, gives a remainder 59. When the same
number is divided by 21 what is the remainder? -.

aﬂﬂwﬂﬂ@mwﬂwﬂﬂﬂmﬁ»ﬂmoagﬂﬂﬂﬂﬂmﬂuﬂﬁﬁ@
fsnfora frar smar & ar aw wwar F @2
@ 21 () 19 () 17 @) 15

Q65. If a positive integer leaves remainder 28 when divided by 143, then what is
the remainder obtained on dividing the same number by 13?

A& TF UAHS qUi AW 28 BIFAT ¥ 143 ¥ RenfoT w W, & st wear ot
13 % ffSra #a W ANwe 74T 9o ghm? ,

@ 0 (b 2 (© 9 () 10

Q66. (N™"-1)is a multiple of p, if N is prime topand pis a?
Ffe (NP1- 1) P T IOTST B, 3T N ,p &7 st & ) par @2

(@)  Prime number HATST AT
(b)  Rational number AT wEar
(c)  Real number IEIfRF qEdr

(d)  Composite number ﬂm_..dﬂ TE&ar



L

; d HCF i
Q67. LCM of two numbers is 16 times their HCF. The sum of LCM an 1S 850
If one number is 50, then what is the other number?

A FEARt FT LCM 3e7% HCF &1 16 7= & .LCM 3y HCF &7 41T 850 ¥. I vy,
HEAT 50 ¥, A gl @EAr F4T ¥ 2
@ 800 (b) 1200 (c) 2400 (d) 1600

Q68. The HCF of two numbers is 98 and their LCM is 2352. The sum of the
numbers may be?

&Y W&aTat #1 HCOF 98 3T 3AFT LCM 2352 §. Y 3o1 warat 1 avr F4T 372

(a) 1372 (b) 1398 (c) 1426 (d) 1484

Q69. How many numbers between 500 and 1000 are divisible by 137?

500 3 1000 ¥ €T Frash FeaTo 138 Rsmerg &2

(@) 36 (b) 37 (c) 38 (d) 39

Q70. Which one of the following is a non-terminating and repeating decimal?

Wﬂ@@ﬂ#ﬂﬂﬂﬂaﬂgﬂm%iﬁﬂﬂﬂ?

(@ 13 (b) 3 (c) 3 (d) 137
8 16 11 25
Q71. Which among the following is the largest?
R # @ w7 gew a3 2
(@ z by 11 () 3 (d) 10
9 1 4 13

Q72. What is the square root of 9 + 2v14?
9 + 2V14 T FIHAA FAT T 87

(@ 1+2v2 (b) 3++6 () 2+~7 (d)  V2+15
Q73. What is the smallest number that must be added to 1780 to make it perfect
square?
qE FIW B HEAT F1 § HEA OF @ a9y & @A 1780 3 siver sew aive?

(@) 39 (b) 49 () 59 (d &9




ntage is
Q74 salary of X is 20% more than salary of Y, then by how much percentag

Salary of Y |ess than X? .
aﬁxﬁﬂﬂ<ﬂ»mﬂ@8ﬁ&5ﬁw.ﬂ<ﬁ»mﬂxﬂ@ﬂ»§_ﬂ

&

(a) 25 (b) 20 © 50 (@ 65

Q75. A student has to secure 40% of marks to pass an exam. He gets only 45
marks and fails by 5 marks. The maximum marks are?
ﬂ%ﬂ%ﬂﬂﬁ»ﬂ@qég%ﬂﬂﬂﬁ»ﬂm@ﬁ»ﬂﬂ&mﬂ
grear e &, 3 5 37T @ srgeelior gvar ¥ @ rfrmaw 3 Frae 37

(a) 120 (b) 125 (c) 130 (d) 150

Q76. What is the number which has to be added to each term of the ratio 49 : 68,
so that it becomes 3 :4 ?

aE Fl @ FEar § B 49 : 68 F AU F UeAH Ug H AT AT ¢ AMF T
3:48 IA?
(@ 3 by 5 (c) 8 d 9

Q77. From the top of a building 90 mtr high, the angle of depression from the top
and the bottom of a tree are 30° and 45° respectively. What is the height of the tree?

wF 90 HieX 39 sART & M ¥ oF 9 F Iw IR AT F rgwHT FIOT FAU:
30° 3il¥ 45° %, 9z #r Fu$ fRaer &2

(@  30V3 mtr (b) 90 -30+3 mtr

() 90+ 303 mtr (d) 60+ 30 V3 mtr

Q78. What is the area of a right angled isosceles triangle whose hypotenuse is 62
cm?

UF FHHIOT FHAGIAATE ISt 1 Aave FaT § R woF 62 d 2
(@ 12cm? (b) 18 cm? (c) 24 cm? (d) 36cm?



Q79. The diameter of a circle circumscribing a square is 15¥2 cm, then what s the
length of the side of the square?

ﬁﬂwq?aﬁmﬁﬂaaégwﬂﬁﬁmﬂ%mﬂaﬂs?

(@) 15cm (b)  12cm () 10cm (d) 7.5cm

Q80. How many 200 mm lengths can be cut from a 10 mtr of ribbon?

Aoﬁﬁﬂﬂﬂ#ﬂimoogﬂﬂa&ﬂﬂdﬂﬂﬂﬂﬂuﬂw»

(@ 50 (b) 40 (¢) 30 (d) 20

Q81. The ratio of the out

er and inner perimeters of a circular path is 23 : 22. If the
path is 5 mtr wide, the dia

meter of the inner circle is?

aﬁmﬂﬂaﬂﬂi%i%ﬁwﬁdﬂmwnmw ¢ IR 97 5 #ex
ﬁﬂw%ﬂwmﬂﬂm«mﬂﬂaﬂﬂw»

(a) 55 mtr (b) 110 mtr (c) 220 mtr

(d) 230 mtr

Q82. The product of the lengths of the dia

gonals of a square is 50 square units.
What is the length of a side of the square?

aﬂm&mﬂgﬁﬂﬂﬂﬁgmoﬂwﬂﬂﬂm&%ﬁmﬂ%
dJFaE fras §2 \

(@  5V2units - (b) 5 units (¢) 10 units (d) 25 units

&83. From a cylindrical log whose hei
possible sphere has been taken out. Wh
cut away?

ﬁﬁﬂgigﬁﬂﬁ%ﬂgwﬁdﬂﬂg
ﬂﬂ@ﬂﬂ@ﬁgw.ﬁwaﬁmﬂwﬂﬂwzqﬂﬂwﬂdﬂﬂgsﬂ
e

ght is equal to its diameter, the greatest
at is the fraction of the original log which is

(@) 1/2 (b) 1/3 (c) 1/4 (d) 2/3

Q84. The diagonal of a cube is 4V3 cm. What is its volume?
tE u FT RAFoT 4V3 A R, swT ATw Ty @92

m (b) 32 cucm (c)64 cucm (d) 192 cucm
(a) 16 cucm (b) B



~

Q85. If the size of a cube is increased by 100%, then by what percentage is the
Surface area of the cube increased?

IR ww ww & WHT H 100% R @ achr §, A G F 9T aAhd H Fraa
widera #r gy @i
(@  150% (b)  200% (c)  300% (d)  400%

Q86. What is the least number of straight lines for a bounded plane figure?
aﬂqﬂmﬂﬂﬂdﬂ%#@qagﬁmﬂﬂwﬁﬂdﬁgﬁ
(@ 1 (b) 2 () 3 (@ 4

Q87. There are five lines in a plane, no two of which are parallel. The maximum
number of points in which they intersect is?

TF FAGE H T (@Y § S @ 21E s & gAeea} o6t 8 »Wﬂ@lm.ﬂﬁ
q@@ﬂmﬂﬂwgw@uﬂﬂﬂ.ﬂﬂﬂﬂw»

(@ 4 AS 6 (¢ 10 (d) None of the above & it =T&l

Q88. If 5 tractors can plough 5 hectares of land in 5 days, then what is the number
of tractors required to plough 100 hectares in 50 days?

afy 5 &F 5 IR qA A 5 R’ A AT wha § ,ar 50 Rat F 100 gweww
saest & fav fraa Eaet 1 I §7?
(@ 100 () 20 () 10 (d) 5

Q89. What is the simplified form of 9V2 - V8 - 427
N2 -8 - 4V2 FT WTFa T F4AT §?

(@) 4v2 (b) 32 (c) 2V2 (d) 2

Q90. The shadow of a pole 6 mtr high is 15 mtr long and at the same time the
shadow of a tree is 25 mtr long. What is the height of the tree?

TH GFT H BT 6 e S i 15 e @l @ R s e w93 4y
ST 25 HleX aFd § ar 93 fr Fud o gefr 2 _
(a) 21 mtr (b) 10 mtr (c) 35 mtr (d) 40 mtr




Q91. If one-third of a two-digit number exceeds its one-fourth by 8, then what is the
sum of the digits of the number?

aﬂﬂiﬁﬁﬂdﬂﬁﬁ-ﬂﬂﬁ#ﬁ-ﬁﬁﬂm%wﬂiﬂ
JET FAT Fen?

@@ 6 ®) 13 (© 15 (@) 47

Q92. A number consists of two digits whose sum is 8. |f 18 is added to the number,
the digits are reversed. The number ig equal to?

W& # 18 W3 Ry wry ar HF Sodd
SIS AR o ) T Y
@) 26 (b) 35 (c) 53 d) 62
Q93. Which of the following statements is trye
sin 31° + sjn 320 7 .

in respect of the expression

Wﬂﬂ@ﬂ&@ﬂ_ﬂﬁﬂﬂwm:w%;__:wmow@ﬂﬂ#dﬂﬂﬂwﬂ?

(a) Its value is 0

THHT AT 0¥
(b) Its value is 1
SHHT AT 1 ¥
(c) Its value is less than 1

SUST AW 1q w7 ¥ ,
(d) Its value is greater than 1
SHHT AR 1 ¥ FAmEy §

Q94. If 1 + tan © = V2, then what is the value of cot 6 — 17

I 1 +tan0 =2 w.mqooﬁoléﬁﬂmﬂ:?

@ 1 () N2 (¢) 2 d 1
2 N

Q95. Iftan®=3 andBis acute, then what is the value of sin (S]
4

aﬂa:ouml%mﬁﬂ_ﬂﬂﬁﬂwﬂm_:mﬁ#ﬂqmﬂﬂaﬂ
4

(@ - (b)

(c)

mlw
mlw

@ -

ol
ol

o



\
Qoe. What is sin 25° sin 35° sec mmw sec 55° equal to

sin 25° sin 35° sec 65° sec 55° frad AT &2

@ -1 () 0 () @ 1

N|=

Q97. Which one of the following triples does not represent the sides of a triangle?
Nefafad & @ T ¥ Rua v Boger @ ganant 1 gfaffle @@ Fwar §2
(@ (34.5) (b)  (4,7,10) (c) (3,6,8) (d) (238)

L

Q98. A round balloon of unit radius subtends an angle of 90° at the eye of an
observer standing at a point, say A. What is the distance of the centre of the balloon
from point A?

sws BT &1 v M oAy Ag A W @2 v qAqaF A @ 9T 90° FT HIoT
FaRa Far 8. g A @ eary A g fr gl 7747 B2
(@ 12 (b) 2 ) 2 d 172

Q99. What is the angle of elevation of the sum whén the shadow of a pole is V3
times the length of the pole?

Bﬂﬁuﬂdﬂﬂﬁﬂﬂwmﬂaﬂﬂuﬂmﬂﬂgﬂnmﬂﬂﬂwﬁéwﬂ%
(@) 30° (b) 45° (c) 60° (d) 75°

@100. If B = 30°, then what is the value of tan a ?
gfg B =30°% ar tan o T AT FAT gEN?
(a) 1/2 ‘ (b) 1/3 (c) 1/4 (d) 1/5
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